
M7ALG3.1

Expanding Brackets 

Expanding Brackets 

In algebra, expanding brackets means to remove them.  
Brackets can be removed through multiplication. If there is a factor 
next to the brackets, we treat whatever is inside the brackets as a 

“package” and multiply everything in it. 

EXAMPLE: Expand 4(𝑥 + 1) 
4(𝑥 + 1) = 4 × (𝑥 + 1) = (4 × 𝑥) + (4 × 1) = 4𝒙 + 1 

RECALL: Distributive Law 

a × (b + c) = (a × b) + (a × c) 

a(b+c) = ab + ac 

Instructions: Expand the expressions below, simplifying where possible. 

1 

5(𝑎 + 3) 

2 

3(𝑐 − 4) 

3 

6(3 − 𝑥) 

4 

3(𝑢 − 9) 
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5 

7(2𝑦 + 3) 

6 

−8(𝑡 − 1)

7 

12(5𝑠 + 4) 

8 

−11(9𝑒 − 2)

9 

6(𝑥 + 2) + 1 

10 

4(𝑞 − 4) + 𝑞 

11 

12(4 − 𝑤) − 5 

12 

7(𝑝 + 4) + 6𝑝 

13 

8(2𝑑 − 5) + 3𝑑 

14 

9(4 − 𝑖) − 5𝑖 



M7ALG3.1

15 

5𝑥(𝑥 + 3) 

16 

3𝑘(3𝑘 − 7) 

17 

−4𝑏(𝑎 − 3)

18 

6𝑟(2 − 3𝑓) 

19 

4𝑧(6ℎ + 2) 

20 

7𝑡(4𝑤 + 3) 

21 

5𝑎(4𝑓 + 3𝑜) 

22 

−3𝑎(2 + 8𝑓)

23 

7𝑎(𝑎 + 12𝑏) − 10𝑏 

24 

−8𝑙(5 − 4𝑙) + 8𝑐
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Expanding Brackets 

Expanding Brackets 

In algebra, expanding brackets means to remove them.  
Brackets can be removed through multiplication. If there is a factor 
next to the brackets, we treat whatever is inside the brackets as a 

“package” and multiply everything in it. 

EXAMPLE: Expand 4(𝑥 + 1) 
4(𝑥 + 1) = 4 × (𝑥 + 1) = (4 × 𝑥) + (4 × 1) = 4𝒙 + 1 

RECALL: Distributive Law 

a × (b + c) = (a × b) + (a × c) 

a(b+c) = ab + ac 

Instructions: Expand the expressions below, simplifying where possible. 

1 

12(𝑥 − 5) 

2 

9(6 − 𝑏) 

3 

7(𝑔 + 3) + 9 

4 

−12(3𝑟 + 2)
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5 

11(10ℎ − 3) 

6 

6(6 − 7𝑏) 

7 

−11(4𝑞 + 3𝑗)

8 

7𝑓(𝑓 + 6) + 13 

9 

7𝑟(4 − 3𝑟 + 5𝑠) 

10 

9ℎ(5ℎ − 4𝑒 − 3) 

11 

7𝑘(7𝑘 + 5𝑒 − 3) 

12 

6(𝑣 − 3) + 5(7 − 𝑣) 

13 

12𝑥(3𝑔ℎ + 6𝑥) 

14 

−9𝑥(4𝑥 − 6𝑦𝑧)
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15 

2(𝑎 + 3) + 7(𝑎 + 9) 

16 

6(𝑐 + 3) + 4(𝑐 − 3) 

17 

7(𝑤 − 6) + 13(𝑤 − 1) 

18 

6(𝑛 + 3𝑚) + 4(𝑛 − 3) 

19 

5(3𝑥 + 4) + 2(𝑡 − 12) 

20 

8(𝑜 − 7) − 4(3 − 𝑜) 

21 

3(7ℎ + 2) + 2(4ℎ + 5𝑒) 

22 

9𝑝(4𝑝 − 3𝑔) + 5(5𝑝𝑔 + 6) 

23 

7𝑗(11𝑗 − 3) − 12(1 − 2𝑗) 

24 

3𝑡(4𝑡 − 6) + 7𝑡(4𝑓 + 6𝑡) 
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